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AR A o] &9 -13,914,0009 < 13] 13 914000
4N A A A AR stk sl E 4Ry sANEE
282 0 0 282,000
= 46,9109 X6 X 1% =
5. 571 Al kA A A K- stabd el e ARy 7 ayda (T
282 0 0 282,000
==t Z1AI2F) 46,9109 X 6Y X 1H=
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AHDH s &9 &% 14
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APA)staZgdyds &9 &% 1< 80000
20,0009 X 43]= ’
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1. 505903 1500 0 0 (AEA)oled Z2a3 9 80,0009 240000
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80,0009 x 158+F=
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1. Qb n 5 3,010 0 0
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2. 0583 2,860 0 O[S 29 50,0009 x23]= 100,000
oA F A5 R] (F2)  460,0009] X 638F= 2,760,000
LAt £ 21,600 18,000 3,600
1.9+ 21,600 18,000 3,600
1. AEA A A4 1,000 0 0
AR 9as5 SJEF Y
1.9%8k5= 80 100 0 0 v ¢ 100,000
A8l 100,0009 x 13]=
0.2 A1) ¢ B 71 1] 900 0 0 AE) s34 93s Au] 20,0009 600000
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O O o ’
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. 6,000,000
400,000 X 158t g=
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1. a3 1,800 0 0 (ded)eAd Fen 50009 x36073= 1,800,000
4. =854 ugde 6,000 0 0
()7 %238 FRlol Ax L2
1.$959 6,000 0 0 6,000,000
ere 2] ZHAH] 30,0009 X 2004] 7h=
5. 80858 Fx 700 0 0
Q8] 2] ) skA 2] 3 1ol ealn
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350,0009) < 23] =
6.3 Fo] 1,000 0 0
A8 A )k sky = Lolpn
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8. ANl o T2 () 1,600 0 0
1. 0520 1,600 0 0l (FFA)AFAZF 400,0009) X 4= 1,600,000
FALA 2+ 10,400 8,564 1,836
19895489 1,000 1,000 0
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1.k gou] 1,000 0 o ¥EA EF TH R FAKXH 200,000 1,000,000
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2.4 B389 9,400 7,564 1,836
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Asts] A8 AHURHF 30,0009 < 129= 360,000
2. A1 ARk H] 20,566 0 0
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